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1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
Z " Z - s o .
e VW B T2 S foim 128 L e S0y

Example : Which error occurs when the instructions written in a program do not follow the rules of the programming language?
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@) SyntaxError , f e (b) Logical Error, /| J%U
(c) Run-Time Error /| r/’e’ ) (d) Execution Error u:)g/,‘f/l

4) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1: A transmission media that uses glass or plastic threads to transmit data is: .
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(a) UTP d é y (b) STP d é Ul
() Coaxial cable ‘j:r J;ﬁ S (d) Fiber optic cable J:f LT A6

Question No.2: How many fundamental components are of computer network?
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(a) 2 (b) 4 (c)6 (d)8
Question No.3: "User authentication" is the key service of:
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(a) Client bb,jj_{ (b) Server /,/ (c) Switch éy (d) Modem (.j,»
Question No.4: To share a printer in a network, it must be connected with:
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(a) Server Ny (b) Client 2L (c) Sender e (d) Receiver ey



Question No.5: The device used for internet communication is:
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(a) Network Interface Card j/(wf’/b.; ..«C) <L (b) Modem F:jy
(c) Switch é}/ (d) Bluetooth jj}z
Question No.6: A wireless technology used to exchange data over very long distances is called:

e GMJ}JLC u’J/!; u(’ Gy s Jt’w‘!i Z LJU LS /,: et ZIPRCHA :6/ J!/
(a) Cellular /',&‘ (b) Bluetooth ﬂ/y)g (c) GPS wﬂ d J (d) Satellite &flﬁ%’
Question No.7: Computer systems are in danger due to:

-‘au/}r_ /)}’/}%{27/}&)/
(a) Antivirus Jj” é’:'.; (b) Security threats Lfff/? ‘3/,?

(c) Licensed software /:’, 2 j/'w’llj (d) Scanning computer bﬁ:c j}"yf/
Question No.8: "McAfee" and "Nod32" are examples of:

- u’f./l';’* d/ Nod32 sl McAfee :8 / Jis
(a) Worms y o1 (b) Antivirus u’/ﬂ, 6%4 (c) Adware ﬁ/’ J’;! (d) Spyware /:’, &L:,
Question No.9: A software that runs in the background of computer to detect, prevent and remove malicious program is called:

c.t’Mu:c_Wu",M/vCéj_iL/()Alz_LﬁcL,u”)//i//:/k}"j‘/ u‘//f/;_»vw 9/‘/Jlr‘
(a) Disk Cleaner ﬁguﬁj (b) Disk Defragmenter // d, _L,

(c) Antivirus Jj”é%” (d) Control Panel J»;f. J,/J’.f

Question No.10: Main source of spreading virus among computers over internet is:
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(a) surfing websites JL,JC-*] Ku/b“lv — (b) internet video call JK%/‘&, oyl
(c) internet voice call J{uj], _1;:::/”:1 (d) play online games M/JU uT
Question No.11: MS Excel is a software that is used to prepare:

_‘LL"}’:JWIJ:L/JL}‘ X‘a/:/:;’ﬁvuj.giMSExcel :ll/Jir
(a) Design document yﬁj ./r/“j (b) Text document y/’j ,_J,,g
(c) Multimedia presentation U:":’:/../.. E/‘&, &L (d) Spreadsheet &;‘? /‘;‘/
Question No.12: Spreadsheet is used for:
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(a) Painting ./r“ (b) Scanning f’“ (c) Calculation u".f'}fb/ (d) Printing _;C‘;:/
Question No.13: A software that stores and maintains data in tabular form, is called:

e VM<+%1|/4131 /:i“:(léfuf (/GJ""}?/:/} &V.,f! 213/J!/

. . P (b) Multimedia Presentation &b
(a) Word Processing Software /:’, LAl as s S Software /-, LA S 74 E:ﬁ/ u”(’
(c) Spreadsheet Software /:’, R Y- /’;‘/ (d) Graphics Software ﬁ/’ 2l f’/
Question No.14 : In MS Excel worksheet, rows are arranged:
e Gxe 27 d/uylb" Ue L2 s MS Excel 14 A Jisr

(a) Vertically d)/ (b) Horizontally Jﬂ (c) Diagonally u”f] (d) Centrally &V”
Question No.15: SUM( ), PRODUCT( ), AVERAGE( ) are the examples of:

eur S & 0 SUMO), PRODUCTO), AVERAGEQ) :15 # Jis
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(a) Formula s (b) Equation .i,{. (c) Function it (d) Expression ‘_.ﬁﬁg;



Question No.16:

(a) ROM

Question No.17:

Question No.18:

(a) center

Question No.19:

SUM(C5:C7)
SUM(C5.CT)
SUM(C5,C7)
SUM (C5;C7)
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Question No.20:

(a) "#" sign

Question No.21:
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Question No.22:

(a) Column

Question No.23:

(a) important

Question No.24:

(a) Input

Question No.25:
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Identify the area of memory in which copied data is stored temporarily.
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Identify Office Button from given picture of MS Excel.

_Q/u'u:t’ﬁ d/ub’ JTui'/“r‘:"fd; d/MS Excel :17/7}J|r
£ ol 19 JJ-".:._. -

'/,/ (b) Hardisk (c)CD (d) Clipboard

=[]
The default alignment of text value in MS Excel is:
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pe o ¥ S

Choose the correct function of MS Excel that add the values as shown in the given picture.
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Functions in MS Excel are always starts with:

ginlsf AL 2t 28 MS Excel 20 4 Jir

"#" el (b)"="sign (c) "+" sign (d) "%" sign

Choose the font color button of MS Excel 2007.
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A user wants to show data in percentage, which type of chart he will use?
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H{ (b) Line Cfu (c) Pie 3

A problem statement should be:

(d) Bar A

-
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(’Z' (b) clear 5|, (c) lengthy uj

In flowchart, diamond symbol is used to represent:
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Choose the correct sequence of a flowchart representation.
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(d) complex pAS
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(b) Decision (c) Processing

a) Start-->Process-->Input-->Output-->End

) Start-->Input-->Process-->Output-->End
c) Start-->Output-->Process-->Input-->End
d) Start-->Input-->Output-->Process-->End



Question No.26: Given diagram is an example of:
e Jo L Jufrlfyj G 26 & Jir
(a) Block diagram ﬂ/ij Ju, =

(b) Flowchart oy R -
(c) Graph bﬂj “_I ML_
(d) Chart oy L e J
Question No.27: JAVA, COBOL, FORTRAN and BASIC are called:
;o A1/ 21 BASIC sl JAVA, COBOL, FORTRAN 227 # Jis
(a) Program errors Js/) rl//,/“ (b) Program variables '/LjJ d/“, ﬂ/’i/“
(c) Program languages f/,@ ﬂ/’i/“ (d) Program operators /":/“T r;ﬁ/“
Question No.28: A Program contains instructions that a computer:
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(a) modifies rf] (b) follows d,/“g. (c) changes J:/‘;J (d) deletes EJ
Question No.29: Which one is used to perform mathematical and logical operations on data? .
‘e bk gJWl Ku/c_ S 4"1_ Z z_//"i/j J%U 2! ._ﬁ:‘@//i 4(23’ :29/12 Jisy
(a) Keywords ) d/ (b) Variables }l.’J U//..’ (c) Constants uj"’p K (d) Operators j/”:/“f
Question No.30: The correct output of BASIC statement PRINT "Book"; "Copy"; "Pencil" is:
te ey 4T s S PRINT "Book"; "Copy"; "Pencil" <4 BASIC :30 # Jir
(a) Book Copy Pencil (b) BookCopyPencil
(c) bookcopypencil (d) book copy pencil
Question No.31: Identify the wrong arithmetic expression written in GW-BASIC. .
UL GaE Ju“%ﬂfn ué“//t s B u‘”ﬁut GW-BASIC :31 & Ji»
(a) A=B+5 (b) A=B+C (c) A=5+6 (d) 5=A+B
Question No.32: Identify the output of the following program written in GW-BASIC.
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(@) 10 10 CLS

(b) 20 20 X=10

(c) 100 30 PRINT X2
(
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